
Calendar Answers

1. 7 tenths
2. 6 x 2 = 12

2 decimal places 3. 

15 + 72 = 874. 

5. 11,877

6. 81 shared between 9 = 9 

7. 5 x 8 = 40
8 . 3,300

9 . 78, 75, 72, 69 (take away 3 each 
time)

10 . 173 x 5 = 865

11 . An equilateral triangle has 3 sides and angles that are all the 
same (congruent)

30. 3617 – 1739 = 1,878
31. 3 x 6 x 2 = 36

18. 7 thousand or 7,000

19 . 5 tenths 

20 . 120

21 . 68p
22 . 56 shared between 7 = 8

23. An acute angle is less than 90 
degrees 

24. 271 – 185 = 86

25. 3 x 0 = 0 

26 . Six 10p coins

13. 2.7 is greater 

14. 4 kg 

12. 7284 – 137 = 7,147

29. 153 + 572 = 725

28. Pentagon 

27. 100 hundredths 

15 . 4 x 5 x 2 = 40

16. 2/10 = 0.2 

17. 4 squares/ equal sections with three shaded in to show ¾ 


